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20183 A = SACH et Arste{H el S Fof &AM EA

(£47] 2018. 03. 01. FE  2019. 02. 28.7}X|)
(M7] 2017. 03. 01. £ &  2018. 02. 28.7}%])

(ErelH el
e o Haeay
b g
XM157|(E7]) X147|(FH 7)) = 7 =7tu|g o HM157|(21) X 147|(FH 7)) = 2 =7tu|g
A-B % o= A-B %
oA | PaME| 3dE) | e AB) (%) oA | PME 3Y@E)  waMs OB ¢)
1 0.00% 1| 0.00% % AbatE{e{u| X & 1| 0.00% 1| 0.00% %
2,561,000 99.04% 4,228,501 | 93.01% @ A1,667,501 | A39.43% x| 2| x| & 1,600,060 61.88% 2,718,501 | 59.79% | A1,118,441 | A41.14%
;3: 3 | 0.00% 220,502 = 4.85% N220,499 A100.% ;S: FAESLIPN e L PSS 1| 0.00% 220,502 | 4.85% 220,501 A100.%
= 3 | 0.00% 3 | 0.00% % = utna|y| x| & 5,600  0.22% 5,600 | 0.12% %
E 800 | 0.03% 500 | 0.01% 300 60.% el 2ol X% 1| 0.00% 1| 0.00% %
o a
T AL
ol = é—|JL§ Lél:l . 0 . 0 )
ol = tms A M E2 10,000 | 0.39% 10,000  0.22% %
off 1] 10,000 | 0.39% 10,000  0.22% %
2,561,807 99.08% | 4,449,507 | 97.87% | 1,887,700 @ A42.42% bl 1,625,663 62.87% 2,964,605 | 65.21% | A1,338,942 | A45.16%
i 1| 0.00% 1| 0.00% % i SRIXHAR| Z 1| 0.00% 1| 0.00% %
g g
= 1 0.00% 1| 0.00% % = SHRAME EX| & 960,040 = 37.13% 1,581,915 | 34.79%  A621,875 | A39.31%
B e R SRR 1 0.00% 1| 0.00% % B e R ERIMF SR 1| 0.00% 1| 0.00% %
o a
7 -
ol 3 | 0.00% 3| 0.00% % = 7 960,042 | 37.13% 1,581,917 | 34.79%  ~621,875 | A39.31%
= H
e 1 0.00% 1] 0.00% % = 2ifol st 1| 0.00% 1| 0.00% %
=13 3}
= = ]
5 1 0.00% 1] 0.00% % 5 J|=2o| gzt 1] 0.00% 1] 0.00% %
2 =
7 2 | 0.00% 2 | 0.00% % 7 bl 2 | 0.00% 2 | 0.00% %
=] =
23,896 = 0.92% 97,013 | 2.13% AT3A1T | AT75.37% Jlatel 3 1| 0.00% 1| 0.00% %
2,585,708 | 100.0% | 4,546,525 100.0% A1,960,817 = A43.13% 3z 85 &4 2,585,708 | 100.0% | 4,546,525 | 100.0% A1,960,817 @ A43.13%
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(6491 : &Q)
o= 1671 15| =(a)2t TR
2 &t =2 =yl | < -
* 201981 H 01T EX XAl O AboH 1,000
2) S XA T 1 1 S8 RHAHOH 2¢TH 1,000
- =EX 1,000
* 20193\ HOIE SEXAON2CH Ol AboH 1,000
4) JIEHHIR S RHat2 1 1 JIEHHI RS AHat 1,000
S=E 1,000
* 201981 H O T JIEIHI RS A9l Of Atod 1,000
3. HRE=CR 0st #2399 2 2
1) 819 xe 1 1 JIEHHIR SR S0t 1,000 1,000
* 20198| HIGIE IO X+ Of AFoH 1,000
2) J|22e =g 1 1 010|229 S0t 1,000 1,000
* 20193| HOIE D230 XL GlaH 1,000
. 837/EY 2,585,707 4,546,524 21,960,817
1. 2g8=07 Qs d2REN 1.625,663 2.964.605 A 1,338,942
1) drstgay 2959 1 1 JIEFakSEE 21| 1,000
- JIEtatBEE Y|
NEESY 1,000
* 20193\ HOIE AtStEEH| H2REH of A 1,000
2) NEZAH H2REH 1,600,060 2,718,501 A1,118,441| 9 2HI
W2 867,530,000
- o124] 110,000,000
H20sts AR ALY 80,000,000
HetAR 2l ME 2 ALY 25,000,000
SREAEHDE XA 5,000,000
WEE N 80,000,000
H2sts AR ALY 80,000,000
- AEASH| 140,030,000
H2sts AR ALY 140,030,000
- DBt S 29| 537,500,000
H20sts AR ALY 420,000,000
HetAR2lME 2 ALY 62,500,000
20198 ZHEAH2H DEXIAY 35,000,000
20198 ZE2Y HNSE 20,000,000
JIEFKI 212 A H 732,530,000
- DIEtRI 2 S ASH]
EEFEETNENE 720,030,000
Hetd Tl ME2Y ALY 12,500,000
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(9l : ®R)
= 16| A5 =(a)2t TR
o st =2 =] ] = B
* 20193|HOIT XIR2AIUH SH2LEH 0 oM 1,600,060,000
3) 2 Ul AL H2REH 1 220,502 A220,501|&1 2 XI 2 b 1,000
- AE EE oinE 29|
BEEX 1,000
20193| HI T IR HIALH S2RE M 0f A 1,000
4) UBIRAZIH H2LEH 5,600 5,600 EIETETEIT 5,600,000
- ABLHIZH|
OiHI D EH| 500,000
nesyl 500,000
ADEY 200,000
AR EXH| 300,000
3o/ 200,000
IE=EES
HeEEL2 2,500,000
JlEtEaE 500,000
A== 500,000
=3Ol M | 200,000
JlEtZ el 2 200,000
* 20193| 01T UBIBAZIH| HI2LEH 0 oM 5,600,000
5) 2H2HIE HIREY 1 1 =] 1,000
S =E 1,000
* 20195 HOIE SUQHIE HIREH GlAH 1,000
6) BNIHNEZ BH2REY 10,000 10,000 M PSEE= 10,000,000
- SN HEE2 10,000,000
*20195/ 01T SN HHEZ HZREN o & 10,000,000
7) ofdidl 10,000 10,000 oilBl bl 10,000,000
- GBI 2oloi Aol 1% LY 10,000,000
* 20193| OIS GlIHIHI Ol &FoH 10,000,000
EXgs0R 0F H2REY 960,042 1,581,917 AB21,875
1) EXNXAKE 1 1 SRR & 1,000
S =E 1,000
* 20195 HIOIE EXRXAXIE 0Of Ao 1,000
2) SQENMIENS 960,040 1,581,915 ~621,875|RE &SI & 960,040,000
- JIADIRHENE 900,000,000
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I = H1621 A 1571
]} &t =2 =P ol
- BIHIEHSENS 60,040,000
* 20193| HOIE SEXAHSKE Ol oY 960,040,000
3) JIEHHIREX 1 1 JIEHHIRERAFHEXS 1,000
- =Ex 1,000
* 20193|H OIS DJIEHHIRERAFSEXS o 1,000
3. Hegsoz 2 2
1 1 JEIRE MO ZAH 1,000
- =Ex 1,000
* 20193| HOIE 2RHC| AtsH Of AboH 1,000
1 1 E00|229 24 1,000
nE=Eq 1,000
*20193| H OIS J| =28 (f Ao 1,000
=29 2 A23,895 297,012
Jlx9 X2 23,896 97,013 Dize A=2]
IERENZ O & 51,302,000
INERSEM oA 27,406,000
JIUNBOIESENS - IESESM) 23,896,000 23,896,000
oF o =2
Jlgoln 2 1 1 e 1Sl
ILRERE 1,001,000 -— @ 1,001,000
(IO 2HIEIER TN S)
LIS 2 1,000,0008 --—- @ 1,000,000
(1Y Gl =20 AR ZH+I| L ZSH0f AR
X2 (©-©@ ) 1,000
2,585,708 4,546,525 2,585,708,000
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